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#1A Non-Aluminum FOIL -- Chapter 8B

Find each product.

1) (7m +8)(2m - 5)

A) 14m* — 19m — 40
B) 28m* + 18

C) 28m* — 54m + 18
D) 28m* —30m — 18

3) (a-2)(3a-4)

A) 3a* +2a -8
B) 3a4% +38

C) 8a” + 14a - 15
D) 3a® — 10a +8

5) (6a+7)(6a +5)

A) 36a* + 12a - 35
B) 36a” + 35

C) 36a* — 12a - 35
D) 36a’ + 72a + 35

7) (8x +6)(7x—38)

A) 56x —48

B) 24x* — 10x — 4
C) 24x* + 13x -2
D) 56x —22x — 48

9) (6a+3)(a+8)

®

A) 64’ +45a — 24
B) 244’ + 68a + 48
C) 6a* —45a — 24
D) 6a* + 5la + 24
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2) (7p-6)(5p +3)

A) 35p* +2p —48
B) 35p> - 51p+ 18
C) 35p* - 18

D) 35p* —9p — 18

4) (4a+2)(2a +3)

A) 8a* +8a—6
B) 84% +16a + 6
C) 28a* +6a —4
D) 8a*+6

6) (56 +2)(6b —8)

A) 30b% +52b+ 16
B) 30b% — 16

C) 30b6* —28b—16
D) 30b% —52b+ 16

8) (a+1)(7a +6)

A) 7a® +13a+6
B) 25a* +45a + 14
C) 25a* +25a — 14
D) 254* - 14

10) (2n+5)(57n—6)

A) 10n* —37n+30
B) 10n% + 131 - 30
C) 10n* -30

D) 10n* +37n + 30
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11) (8x+7)(7x - 7)

A) 5x* +20x+ 15
B) 56x —49

C) 56x* + 105x + 49

D) 56x% — 7x—49

13) (6v—2)3v+3)
A) 18V —24v+6
B) 18v* -6
C) 182 +24v+6
D) 18v* +12v—-6

15) (8% + 4)(4k —2)
A) 32k* -8
B) 32k% + 32k + 8

C) 21k* — 64k + 35

D) 32k* - 32k+8

17) (4v+6)(7v=7)

A) 28V + 14y — 42
B) 35v* +91v + 56

C) 42v* — 13v+1
D) 35v* +56

19) (p-1)(5p+2)
A) 5p*+Tp+2
B) 5p*-3p-2
C) 5p*-Tp+2
D) 5p* -2
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12) (2x—4)(3x+6)
A) 6x* —24
B) 2x* — 14x — 16
C) 2x* - 18x+ 16
D) 2x* - 16

14) (6r—2)(6r+5)
A) 3617 +42r + 10
B) 282 —38r+ 12
C) 36r* —42r+ 10
D) 362 + 187 — 10

16) (5r-2)(5¢+2)
A) 87 +57r+7
B) 25/ +20r + 4
C) 25r* —4
D) 8 +55r—17

18) (m + 1)(6m +2)
A) 32m* — 16m -6
B) 32m* —32m+6
C) 6m*+8m+2
D) 6m* +2

20) (v=2)(6v+7)
A) 25v +21
B) 25v? —50v + 21
C) 18V —6v—12
D) 6v* —5v— 14
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Chapter 8B C1-2 Review

Find each product.

1) (3x +3)(6x +4)
A) 18x% —6x—12
B) 18x% + 12
C) 12x* - 22x+6

D) 18x% +30x + 12

3) (84 +7)(8a—38)

6" — 8x+2

5) (6x-2)( -1)

163" — 4x— 42
N +6)4x—7)

10 — 43x + 28
9) 2x-7)(5x )
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2) (4x+2)(3x +3)
A) 5x* +13x -6
B) 12x% + 18x+6
C) 12x* +6
D) 5x* —17x+6

4) (4v-5)3v-1)

643 — 56x+ 6

6) (8x )(8x—6)

25 4+ 10x+ 12

8) (x+3)( +4)

1252 + 505 +42

10) 26 )6b+7)
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#1B FOILed Again -- Chapter 8B

Find each product.

1) (a-5)3a-1)

3) (57 +4)(4r-3)

5) (7n-1)(5n+7)

7) (7p-2)4p-5)

9) (2n-3)(5n+3)
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2) (56—1)(5b - 8)

4) (n — 7)(4n + 5)

6) (76 +2)(6b—1)

8) (4r+7)3r+2)

10) (4x—7)(3x+38)

Made with Infinite Alge bra 1 .

Hour



11) (v=7)4v +6) 12) (57 +4)(6r+5)

13) (7a +6)(8a +3) 14) (6r+1)(7r +8)
15) (7n - 8)(5n - 8) 16) (3r+4)(4r-7)
17) (a+5)(3a +2) 18) (5m —3)(4m + 1)
19) (2r+5)(r-3) 20) (3 +2)(8r+5)

© 2018 Kuta Software LLC. All rights reserve'dzf Ma de with Infinite Algebra 1 .



Intermediate Algebra

#2 (given 3 out of 4) -- Chapter 8B
Find What’s Missing!

Name

Hour

Fill in the missing terms and then show how the middle term is a result of the factors chosen.

1. 18n°+9n+1
(n+1)(3n )

3. 2x*>4+7x+6
(x+2)(2x )

5. 5x2% 4 34x + 24
(x +6)( + 4)

7. 21x% + 10x — 16
(7x )(Bx—2)

9. 3a2+19a+6
(a+6)( +1)

2. 24n* +11n+1
Bn+1)(3n )

4. 18n* —9n -5
(Bn+ 1)(6n )

6. 7n®>+36n+5
(n+5)( +1)

8. 2x%2 —7x —30
(x )(2x +5)

10. 16n*2 —18n+5
(8n y2n—1)
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#3 (given 2 out of 4) -- Chapter 8B Hour

Find More of What’s Missing!

Fill in the missing terms and then show how the middle term is a result of the factors chosen.

1. 5x%2 —37x + 42
(5x = 7)( )

3. 35k? — 96k + 64
(5k )(7k )

5. 20x% —33x + 10
(5x )( —-5)

7. 35a? + 57a + 18
( )(5a +6)

9. 48v% + 74v + 21
( Y(6v +7)

2. 7k? + 45k + 18
(k+6)( )

4, 21k? + 80k + 64
(3k Y +8)

6. 18p%2 +39p —7
Bp  )(6p )

8. 8x% 4+ 39x + 28
( +4)(8x )

10. 35v% —31v — 40
( -8)(v )
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#4A -- Chapter 8B Hour

FACTORIT!

Factor each trinomial.

1. 7p? — 40p — 12 last 2. 7n? +80n + 100 last
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
3. 3x% — 19x — 40 last 4. 5n% —39n + 28 last
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )



5. 5x2 —2x—7 last 6. V24+v—6

p—
o
2]
-

( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
7. m* —5m + 4 last 8. x* —11x + 30 last
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
9. v2 —4v — 45 last 10. k* —9k + 8 last
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )

( ) ( ) ( ) ( )



Intermediate Algebra

#4B -- Chapter 8B
FACTOR IT AGAIN!

Factor each trinomial.

1. 2x% 4+ 25x + 63

( ) ( )
( ) ( )
( ) ( )
( ) ( )
( ) ( )
( ) ( )
3.5n +n—6
( ) ( )
( ) ( )
( ) ( )
( ) ( )
( ) ( )
( ) ( )

Name
Hour

. 2n2+17n -9

( ) ( )
( ) ( )
( ) ( )
( ) ( )
( ) ( )
( ) ( )
. 7x*+30x +8

( ) ( )
( ) ( )
( ) ( )
( ) ( )
( ) ( )

( ) ( )



5. 3x% —26x + 35 6. x>+ 15x + 50

( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (
7. pP—p—42 8. p2—5p—14
( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (
9. x> —7x —18 10. x* 4+ 15x + 54
( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (
( ) ( ) ( ) (

( ) ( ) ( ) (



Chapter 8B — Factoring Review Name

In each set of four factored trinomials, place the correct signs to give the middle term.

1.2) 2x2+7x—15=(2x 3)(x+5) 2.2) x24+5x+6=(x 2)(x 3)
b) 2x2 —7x—15=(2x 3)(x—5) by x2—x—-6=(x 2)(x 3)
¢ 2x2—x—15=2x 5)(x 3) o xt+x—6=(x 2)(x 3)
d) 2x2—13x+15=(2x 3)(x 5) d x2-5x+6=(x 2)(x 3)

3.2) 3x2—-5x—-2=03x Dk 2) 4.2 x2+7x+6=(x 6)(x 1)
b) 3x2—-7x+2=CGx 1(x 2) by x2—7x+6=(x 6)(x 1)
0 3x2+7x+2=0Bx D 2) O x2+5x—6=(x 6)(x 1)
d) 3x2+5x—2=Cx D(x 2) d x2-5x—6=(x 6)(x 1)

Factor each trinomial. Show each trial including the OI check. Box/citcle final answer.
5. 2x>—7x+5 6. 5x> —13x+ 6 7. 5x>—7x—6

8. 4y> + 8y +3 9. 3m? + 5m — 28 10. 2x% +13x + 15

11. 12y2+ 7y +1 12. 5a* —42a — 27 13. 8p%> —10p + 3



14. 2v2 —3v - 20 15. 12p2 —32p+5 16. w? — 10w + 9

17. % +6n+1 18. 9x% — 4 19. x%2 —36

20. 4p2 —11p+ 6 21. 6x%+ 7x — 10

22. 4y? — 17y + 15 23. 15x? — 28x — 32



Circuit Training — Factoring Trinomials

Name

Directions: Begin in cell #1. Factor each trinomial and show the work necessary. You may need additional sheets of paper.

No technology/calculator is needed. Circle your answer and then search for it. When you find it, call that cell #2 and
proceed in this manner until you complete the circuit. The answer for “cell #20” will be the answer in “cell #1”.

Answer: (5x —2)(x — 3)

# 1 2x% —5x—3

Answer: (x —12)(x — 2)

# x%2—6x—16

Answer: (5x —7)(x —3)

# x> +x—12

Answer: (x —9)(x — 1)

# 3x2—-7x—6

Answer: (x —10)(x — 2)

# 2x%2 —13x+ 21

Answer: (3x —5)(x + 2)

# 2x2 +9x+7

Answer: (6x —5)(x + 1)

# x%2 —14x + 24

Answer: (2x +1)(x — 3)

# 2x% —3x— 14

Answer: (2x —7)(x + 2)

# 2x° 4+ 7x+ 6

Answer: (3x +5)(x+ 1)

# 3x%2+x—10




Answer: (2x + 3)(x + 2)

# x%2 —5x — 14

Answer: (2x +1)(2x + 3)

# 6x°+x—-5

Answer: (2x +7)(x + 1)

# 5x2 —17x+ 6

Answer: (3x +2)(x — 3)

# 6x%—7x—13

Answer: (x —3)(2x —7)

# 5x% 4+ 16x + 3

Answer: (5x +1)(x + 3)

# x%2—10x+9

Answer: (x +4)(x —3)

# 3x24+8x+5

Answer: (x —8)(x + 2)

# 5x% —22x + 21

Answer: (2x —3)(3x+ 1)

# 4x%+8x+3

Answer: (x —7)(x + 2)

# x%2 —12x + 20




Factoring “Color It” Puzzle Name

Factor the trinomials and find one factor in the left column (how to
color it) and one factor in the right column (which letter to color).

RIF[Alulali]rPIPlF[AlU]H][ETQ] Q (x+1) (x=1)
KIHiD[M[LIA|EF[H|B|P|LIA E| [ (x+2 (x-2)
Jleiv]s|wicle[H[B|a|M|[P|c]a] [ (x+3) (x-3)
Hlviw[y]rmlc|Bla[k|a[mIN|a| [E (x~4)
ali{o[Lleli[salk|[n[D{w][k[H| <q(x+5) (x-5)
Llalef[ofcly| 1 Fla[B[X[F[G[D| [& (x+8) (x-6)
mlclal i [r[LH]a[D[x]k[Aa][D]Y] 7 x-7) (x+7)
IN|N[L[J|E|U|C|B|RIF|J[D|Z|R| P (x-8) (x +8)
(O|O|N|C|HE|U/Q|K|J|B|S|Y|[X| 4 (x-10) (x+9)
INfV[O|V|C|A[I F|A|D|P[O|R|Y| [] (x-11) (x+10)
(UjQ[U[N[P|L[G[G[B[M[Y|N[S|X| P *x-12) (x+11)
RITI[S|T[T Y|LIDJU|T|V|T[W|X| 4 x-9) (x+12)
%2 +13%+12 x* +14x + 40 x? +13x + 42
x*—11x + 28 x*—-13x + 40 x*—16x + 60
X°+ x—2 X*+x-6 x>+ 2x-15

x’—-3x - 88 x?-3x-108 x2+2x-99

rXoec -TITOTMTmMmOO G P

Hour
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Factoring GCF Due Hour

Factor each completely.

1) 20 + 30n 2) 81n* —45

3) =3m* + 10m 4) 1p* + 63

5) —16v7 +20v* + 321° 6) 42r +211° +7r*

7) 9k +9 —30k° — 15k* 8) —7m* + 63m> — 35m* + 56m
9) 24n"* — 48n? + 6n - 54 10) —81 + 27x + 90x> — 72x*
11) —30x* — 40x* — 80x 12) 36k* + 16k — 28

13) —14xy* -2y +20 14) 4x - 16y +20

© 2018 Kuta Software LLC . All rights reser ve d. Made with Infi nite A lgebra 1.






Factoring Puzzle — Cut Out Squares
Cut the squares apart.
Match equivalent expressions.

You should get a new 4 x 4 Square.

9T — X9 — X

(7x —5)(x — 2) (4x — D(4x + 1) (x + 3)?
N gw 9 ;{: T :
= | & + =
+ R + w N
+ N X = = =
= & (32} N
g | + | | +
[EN Ral ol 5 Q”X/
— O ~ (o))
° e ¥ % - X,
% + % I I +
= = \é = Ra) [u=
N Ny | I < &
= +
& L] & » 2 -
] G- a7 =6
) < () e
| ><N | + +
< | o < 2
N (=Y o o I
+ S + |
B B & N
YT+ X0T — ;X 6= 6+ X9+ ,X
(x +6)(6x + 5) (x+3)(x—3) (x —4)(x —3) (x+3Nx+1
“ & % =
N | | [
= N 5
+ : = —
= ~ 1
™ + | +
p—3
= = 3
) v N
2T+ XL — X 0T +X6T — ;XL 9T + X8 — X

ST+ X0C + X¥







Factoring Trinowmials Mateh Up

Factor each trinomial. Glue the two binomials that are the factors into the boxes below the trinomial.

x%+8x +7 x% 4+ 10x + 16 x% + 10x + 24
x?+ 8x + 15 x? + 18x + 81 x?+ 10x + 21
3x2—2x—5 2x*+3x—9 3x*—8x+4
5x% 4+ 19x + 12 2x*+ 11x + 5 2x% 4+ 5x + 2
3x% + 5x + 2 9x% —9x — 10 2x% —5x + 2
10x% + 3x — 4 9x% + 12x — 5 10x%2 —7x + 1







Ch 8B (-3 Quiz Name: Hr:

e e e g e

Find each product. Show your O and I work to prove the correct multiple choice answer.

1) (7x+4)(x+3) 2) (k—3)4k—3)
A) 9x* +36 A) 3K +19k+28
B) 7x° +20 B) 3k —5k—28
C) Tx° +39x+ 20 C) 4k —17k+ 15
D) 9x° —45x+ 56 D) 3k* + 5k—28
3 (45 +6)(55-7) 1) (35-7)85+8)
A) 206° —538h +42 A) 56b° + 85— 64
B) 205°+2b-42 B) 56b° + 64
C) 205° —42 C) 24b° —32b— 356
D) 65° —22b+ 12 D) 565 — 1205 + 64
5) (2m+ 1)4m +4) 6) (61— 5)4n—3)

Fill in the missing terms and then show how the middle term is a result of the factors chosen.

7. 6x* —10x — 16 8. 4k® — 17k + 15
(3x —8)(2x ) (k=3)( -=5)
9. 7k* — 34k -5 10. 4k? + 22k — 42

(7k )(k ) (k ) (4k )
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